
Confidence Interval Information Table 

 Parameter Statistic Standard Error Critical Value 
Multiplier 

Degrees of Freedom 
(df) 

                                         
One Proportion 
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𝜋̂ √
𝜋̂(1 − 𝜋̂)

𝑛
 𝑧∗ N/A 

Difference between 
proportions 𝜋1 − 𝜋2 𝜋̂1 − 𝜋̂2 √

𝜋̂1(1 − 𝜋̂1)

𝑛1
+

𝜋̂2(1 − 𝜋̂2)

𝑛2
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One mean 

𝜇 𝑥̅ 
𝜎
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√𝑛⁄  

𝑧∗ 𝑜𝑟 𝑡∗            
depends on 
whether you 

know σ or have 
large n 

If using t, 𝑑𝑓 = 𝑛 − 1 

Difference between 
means (unpooled*) 𝜇1 − 𝜇2 𝑥̅1 − 𝑥̅2 √

𝑠1
2

𝑛1
+

𝑠2
2

𝑛2
 𝑡∗ 𝑚𝑖𝑛(𝑛1 − 1, 𝑛2 − 1) 

                              
Difference between 

means (pooled*) 𝜇1 − 𝜇2 𝑥̅1 − 𝑥̅2 
√𝑠𝑝

2 (
1

𝑛1
+

1

𝑛2
) where  

𝑠𝑝
2 =

𝑠1
2(𝑛1 − 1) + 𝑠2

2(𝑛2 − 1)

𝑛1 + 𝑛2 − 2
 

𝑡∗ 𝑛1 + 𝑛2 − 2 

Paired difference 
(mean difference) 𝜇𝐷  𝑑̅ 

𝑠𝑑

√𝑛
⁄  𝑡∗ 𝑛 − 1 

 

* To determine which method to use for pooled vs. unpooled, test the ratio of the variances (NOT standard deviations) like the following example:  
𝑠1

2

𝑠2
2 > 2  use 

unpooled, otherwise use pooled. 


